Problem 1
Assume that system S is defined by the table below:

	X
	a
	b
	c

	x1
	(a1,2/3)(a2,1/3)
	b3
	c2

	x2
	(a1,1/2)(a2,1/2)
	(b3,1/3)(b1,2/3)
	c2

	x3
	(a2,2/3)(a1,1/3)
	(b1,1/3)(b2,2/3)
	(c1,1/2)(c2,1/2)


1) Find fuzzy representation of attribute values in S.

2) Assuming that a1, b1 are fuzzy sets, find their standard intersection, union, and complement of each one.

3) Assuming that a1(X), b1(X) are fuzzy relations, find their composition a1(X) ○ b1(X). 
4) Assuming that a1(X), b1(X), c2(X)  are fuzzy relations, find their composition [a1(X) ○ b1(X)] ○ c2(X)  and   a1(X) ○ [b1(X) ○ c2(X)]
Problem 2
Assume that system S is defined by the table below:
	X
	a
	b
	c
	d
	e

	x1
	1
	3
	2
	1
	1

	x2
	1
	3
	2
	2
	1

	x3
	1
	2
	3
	2
	2

	x4
	1
	2
	2
	1
	2

	x5
	2
	1
	3
	2
	2

	x6
	2
	1
	1
	2
	2

	x7
	2
	1
	2
	1
	1


1. Assuming that {a,b,c} are system attributes and {d,e} are user attributes, find the system interpretation of both attributes in {d,e}.
2. Find the precision and recall of the system interpretation of {d,e}.

